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Automatic Discovery of Fast 3 x 3 Matrix Multiplication
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A1 Aseo Bo1 B Co1
Ci1 = A1 x Byy + A2 X By
Ci2 = A1 X Bia + A1 X B
Co1 = Az X By1 + Age X Bop
Cao = A1 x Bia + Ay X B
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My = (A + A»)  x (B + Ba)
My = (Ay + Ax) x By

M3 = Ap X (Bi2 — Ba2)
My = Aso X (=Bi1+ Ba)
Ms = (A1 +Ap) x DBa

Mg = (—A11 + A1) x (B + Bia)
M7 = (A1 + A22)  x  (Ba1 + B22)

Cy1 =My + My — Ms + My

Ci2 = M3 + M;5
Co1 = My + My
Cog = My — Mo + M3 + Mg
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(A11 — A21)

Azz

(=A11 + A21 + A22)
(A21 + A22)

A1

(=A11 + A3z1 + Az2)
(=A11 + Asz1)

(Az1 + Az2)

(A11 + A12 + A1z — A2z — Ag3 — Az1 — Az2)
Az2

(—A13 + As2 + Asz)

(A13 — Aszs)
Aqg

(Az2 + Az3)
(—A13 + A2z + Az2)
(A3 — A23)
(A22 + A23)
A1z

Azz

Az

Azl

Azz
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Ix3dd
(A11 + A12 + A1z — A1 — Ago — A3z — Ass) Baa

(=B12 + Ba2)

(B11 + Bi2 + B21 — B2z — B23 — B3z1 + Bs3)
(B11 — Bi2 + B22)

(=B11 + Bi12)

Bi1

(B11 — B13 + Bas)
(B1s — Ba23)
(=B11 + B13)
Bag

(=B11 + B1s + B21 — B2z — B2z — B31 + B3s2)
(B22 + B31 — Bs2)
(B22 — Bs2)

B3y

(=Bs1 + B3s2)
(B23 + B31 — Bgs3)
(B2 — Bs3)
(—=Bs1 + B33)

Bay

B3z

B3

Big

B3z
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24 2N 8%
n | 5tek | &5t
2 7 7
3 18 23
4 33 49
5 52 100
6 75 161
7 | 102 | 258
8 | 136 | 343
9 | 176 | 522
10 | 220 | 700
11 | 270 | 923
12| 324 | 1127
13 | 384 | 1450
14 | 448 | 1728
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